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QUESTION 1

Which three processes are part of the ITILv3 Service Operation? (Choose three) 

A. Release and deployment management 

B. Problem management 

C. Incident management 

D. Event management 

E. Service-level management 

F. Change management 

Correct Answer: BCD 

 

QUESTION 2

A large enterprise network has two data centers and a WLAN edge with a large hub-and spoke network. The complete
network is configured as a single OSPF area, and spoke routers are connected to unreliable WAN links. Which two
changes should you make to deploy LSA on the spoke routers? (Choose two) 

A. Place spoke routers in stub areas 

B. Make the hub routers ABR 

C. Make the hub routers ASBR 

D. Place spoke routers in totally stubby areas 

E. Keep the spoke routers in normal areas 

Correct Answer: BD 

 

QUESTION 3

A service provider is designing a new backbone based on an IGP and MPLS what are two valid reasons for
implementing MPLS-TE as well? (Choose two) 

A. MPLS-TE is required to reroute traffic within less than 1 second in case of a link failure inside the backbone 

B. MPLS-TE can detect and react to neighbor failures faster than IGPs can 

C. MPLS-TE is required to route different MPLS QoS Service classes through different paths 

D. MPLS-TE is required to create backup paths independently from the IGP 

E. MPLS-TE is a prerequisite for implementing RSVP in the backbone 
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Correct Answer: CD 

 

QUESTION 4

When is it required to leak routes into an IS-IS Level 1 area? 

A. when equal cost load balancing is required between the backbone and non-backbone areas 

B. when unequal cost load balancing is required between the backbone and non-backbone areas 

C. when MPLS L3VPN PE devices are configured in the Level 1 areas 

D. when a multicast RP is configured in the non-backbone area 

Correct Answer: C 

 

QUESTION 5

You are designing an IPv4 any source multicast redundancy solution. Which technology ensures the quickest RP
convergence? 

A. Bootstrap router 

B. MSDP anycast RP 

C. Auto-RP 

D. Embedded RP 

Correct Answer: B 
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